
�
�
�
� � � � � � � � � 	� 
�
�
�
�

��� � �������	 �
 ������ 
� 
 ��
���� �
� 
 �	 ��� �	 ��

�
� �������	
������
������
���

� �����������������
������������	
���
����	��
����	��� ���
����
��	�

�
�
�
�
�
�
�
�

���������
���� ��� � � � ! � �"�#��$�%��$� � $� "#�� �

�
�

�&' (#�	
������)����
�	�
�
�
�

#���
	*�+,-�. /�0�1223�
�
�

����� ��������� ��� �
 ! " " # ���$���%��� ����
�
��$�&� '  ( )*+( ,�- +- )+�
� �. &� '  ( )*+( ,�- +- )��+�
�
/ / / &� ���0&,,���)��12����3�����

�



���������	
����
���������������� � ������
	�����
����������	��������
�����	�����

� � �������

�
	)4���	��


��������3���4�������5� %���������2$6��7��� �����3�62����8����7���3����8����99���: ������

��������$�� %0��%�;��28�$������9�������8����7���1$�. �8�$�������3���������� �$����3������ 8)

: 2�$� 8����99��������$�3��� 3�3�8��� ����;� �9���8����7���%2����� 3�3��� ���2$6��7� 7��

�� �5�7��;� : ��� 7���� ����� 3����7$�� ��� ��3�$��3;� ���� < ����%����3� ��� ����16����= 3��;� ����

8�: = ����� �8��� �����3�92��$$�;� �� ������ ����� �91�������� > ? ���3� ���� ��28$�9�� �2� ��

���7��������� � 2� �� �99��� 6��$������ 6��$�� ���� �= 1��3��� �������8����7���3����8���8��� ����

���2$6��7�������@ �������9���;���� ��: ���62����= �3�����: ��%�� ��1������1�������� �= �1����

3����7$�� �����3�$�����3��	 ���3��
�����0��%����������8������� ��$�� ���2� ����� ���3�%$= �������

�9� �����$� ���$$��� ��� �� 15�� ���� @ �������9��� �2� �� 6��$�� 
� �: ����3%������� ���� 12$3�����

������0�0����3������1������%���$$���
�����8����������2$6��7��� �����3���������6����� ��;�

9? 3$�� ��� / ��������: �� %$��3�9? 3$�� �%��������17�7��3�����������������8��� �8��� �= 1��)

3������ ��9����������7���������� ����������9��8����3��3���15���������2$6��7��� �����3;�

: = �����������������! �8���" ���1���28$�9������> 5� %���%2�7����������������������( �����

�+�7��3����? 3$�� �%��������1;� : ������� ���2$6��7��� �����3�62����8����7���3����8��� : ��)

������: �� %�$��: ������%�����
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��������� �$����8�����������8������� A 2�����;������������8����7���1$�. �8�$�������3�������= )

B �����������$�7������� �= 1��3��3���� �����3�������$��: �� ���3�����������9����������8����7���)

1$�. �8�$�������3� : ������ �99��� : ��������8����7���%2�����3�������� � �� ������ $��7���� 	 �)

��8��3��� 6��153��� �� �2��9���� �$��  +� ��27������������ �= 1��3��������*( � ��27��������

������8��58�������0��� ������A 2�����C63$�������������*++*D����1�������: ��������8����)

����������3��0���;������0= ���� ��� � ���7�������3�3$�� ���� : ������� < 2���$$�9� $= �3��1�����3��

A 2����92��$$�;���1���������8����7���3����8����9�/ ����62������9��2����)�8���9����)

���� 4�����3��= $����� ��3���99�$�� : �����;� ���? ���� ���� � $�. �8�$��= �������6��� ���� @ ����)

���9�������$������������8����%2��������%����4��$��31�����3���������8����7���92��$$����)

3�$�3�����������E���? �������������1���3���99�$���������8�������;�����2�3�? � �����������

����%2�15���������� �= 1��3���;����������8����������2$6��7�������@ �������9�����2���< ��$�����

��� A ��1� ���9���95����;� 7�9�$� ���� ���%? 99$�� ���� 
�� �����3��F ���9�� : ��� ���2$6��7)

3�$�;���8����$2���3�$����� �� : ����58�����0�;����� �������9�= �� �����8�3���7����@ 91��3�

15��������8����7���3����8�����1%299���C63$��
� ������3���*++ �&��# D����13����������$$)

3�9����3�����3��������2$6��7����%2���������$��7����4��������������7�9����$��0�%��%�$= )

����� ��9��0$������C7������8� 2� %��2���3�2����� ���� ��$���2�����D;�8������������ ������8$�� ���

��8����7���3����8���6��$2����3��3��;�����8����99���9�������� �= 1��3�������8�����8$�� ���

����������6��������3���7���� �������� 2������3;������������1�$$��������8����7���3����8���

���2$6��73��� �5�7��: �������� ���: ��������3��� �����;� ������� ���3����$$�;��������� ��������)

: 5��� ����� $�. �8�$�������3�������8����7����B ���������6�C���������< ��8������3D�: ������ ��B ��$�)

����6�C����7�����������26���6����2��$$��D�: ��������: �� %�$���
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�9�� �5�E�����( ( " � : ���������������3����7$�� �����3�$��3�7������2$6��7��� �����3�62����)

8����7���%2��������3�15����CG - ��
27��$3����78�� ���< D�C63$�����15��$�� ��
� ������3���*++H D��

�������: �����1���3�$�3�;��������� ������I< �����3�0�������J�C��8����6�����3�);�������8�)�2����

����10�������D� ��1� ����� ���2$6��7��� �����3� I����3��J�� K ���9� : ������ �������3���7���

1���3�$�3�;�: ��������
�� �����3�01$�� �����������&�����> ��17����������8����7�����3�$��3�9����

9����������*- ��2�����8����3���� K ���9�9����������8����7���3����8���8�0: �� �9� 4����

*++! ���������������91��3�62��- �*++L ���8������1�: ���������3�$��3���: ������9���)

���7�6��7�� ����;����7�������9�K ���0��%���2� ��6? $$�3�211���: ��;�: �$� ���� 2�9����������2$)

6��7��� �����3���� ��������8�$�����2$$����C�9�4����*++H �: �����������2� ���������12�9���)

2��01$�� ���15��������8���3�8������7�3�153�D������� 2�9�$�����3������G - ��
����< �8�3�5�)

������ ����� I��28�0����J� ��� ���� ��� �� ���2$6��7�� ���7$? ���3��� ���8$������ �2$$���� C63$��


 ����,�2$1�� *++H &� " D�� ���� : 2$$��� 6��9�����;� ����� ���� 	 ��: �� %$��3� 62��

�8��� �����3�92��$$��� : ��� ��� �� 1$�. �8$��� ��8����7���92��$$��� ���3��� ��= �%�� : �����

�����$8�: �������� ����1������
��%��2��8���� �� �������$���3�6��7�� ������� �� ��������2���2�7�

�� ����8�� ���������73�8��� ���� ��3�$��3� ������ 6��01$�� �������� � ����%���� 7�� C63$�� ����

*++�D���

�9�4����*++ �: �����15����8����7���3����8��������$�������$7���6�����8����3����9��$2� %)

92��$$� ��0����� ����� ���2$6��7�� ���7$? ���3� �9� �$�������$7���3����7� ���3�15���� CG " �� �$)

�������$7���3����7� )� 8��� ������ 3�$�� 15�� ��������8����7���3����8��� �8��1�$$�� ���� G - �� 
���

�< D����9����2$$�������8��������
� ���7�62���$�������$7���3����8��������� ���: ��������9�@ �)

����� �����7�� G - ��
��� �< � 6��01$�� ��������� G " ������������8���3�8����. 0$�7��;������ ���2$)

6��7��� �����3����7�15������	 8���2�: ������8����99����������< ��3��3���������� ������2$)

6��71������8��� �����3�: �3�����3��� �$2��������������$��7���
 ? ��������8��� �����3�62�)

3�3�8����K ���9�: ����������8������9��������������8������9���������5� %$�� ������A $�)

3���� ��� ��1� 8����99��� �8��� �����3�92��$$�� ���3��= �9�� C���15��$�� �� 
� ������3���

*++ �D��/ ���������: �����8���%�����
��%��2��8���� �� �������$���3�12�9�$������

�9�	 �3�8����3�8��������7����7: ���35$��3��3����7$�� ��������$�3���7������2$6��7��� �����3�

62����8����7���3����8��������: �����$�� �������3������3�$��3�3�$��15����8����7���3����8���

�����$�������$7���6�����8����3��;� : = ������ �$$�� �������� 1$�. �8$�����8����7�����3�$��3���

���� ������G - ��
����< ��83���� %��: �������
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�$�� �( ( " � ���� ���2$6��7��� �����3� 62�� ��8����7���3����8��� 3����7$�� �� 6����%���� : ����;�

8����������� 
 211���3;������62���$$�9���������16�����3�0���������2��$$������ / �3������

�8��� �����3� ���: �� %�$�� : 5������ ��� ����9� ����� ��� ���� ��������8����9���������9�� 62��

	 ���� *++�� : ����� ������ ����� ���15��$�� ��� ���$F ��� 62�� ����16����= 3��� 62�3��299���

C63$������*++�D������	 �3�8����: ����$$�����3�����5� ��������	 ���������7: ����� �2��%��00�

*# +� ����16����= 3�� ��3�$��3��� 7��� ���2$6��7��� �����3� ��13��299��;� : 262�� (  � ��� ��

/ �3�������8��� �����3���17��3���������8���7�������9�K ���0��%���� �2��58���# # +�����1)

6����= 3��7����$�������$7����35$��3� : ����;�8������������;������ : ���3����$������ 
 = $1��������

A $����$�7������2$6��7��� �����3���13��299���������������������3�8���������3��7�: ���3��

����16����= 3�;����������$$��������3�$��3��������$������$$��8������8�%�����������16����= 3��

�0��� ���� $���3$�� �� 	 901��$��3��� ���;� : ��� @ �������9��� ��8���7���%2����� �8��� �����

%? �����C63$��
� ������3���*++H &��# D��	 ��: ������M�: ���8�������3����7$�� ������3�$��3���)�

%����� 6��8���$�� ���� / �3�� 62�3��� ����8��;� ���� ��� �= �3�� 62�� ����2��� ��� ���� A 290�)

���7�������8�����8$�� �����%�������8;�28���������2$6��7��� �����3��9�@ �������9����83�)

�� �$2�����: ����� �9�	 �3�8����%����1���3���$����: �����;������������ ���3�$��3������;�6��)

8���$�� ���
����������������2$6��7��� �����3��������16����= 3���1���7��� ����8��;�3��� �: ��)

3������;�����������������10��������3�$��3��� ���;�������8��� �����3�92��$$�� 7�����: �)

� %�$����

��������� 	������ ������  ��
�!�"��# ����$ ������������!���� �� �����# ��!�����

�

$�����6�

����
��
�������������
������� ���		��
��������
��������$����������
����

< ���� �������� ���%��;� < ����� �����3��;� �0�7��$�������� ������$������;� ����� ���6��8= ����

���� C��2� )D� @ �������9�����8��� ��� $��7���� 4������9������� / �3�� �����? 3$�� �%������

�������2$6��7��� �����3�62����8����7���%2��������: �� %�$�����8�����8������ �������3����$�)

3���� 6���� ���������8��� �����3�92��$$�� ������3�8�$���� ���� ���8$����&� ������$�3�92)

��$$;������5�3�� ��1��$? ���3���������A ����2��6����� �����3�C�����$�������������3�H D�����9�

��$�3�92��$$�: ������$�B ����������$�����@ �������9�������� 2���;���$���$�3��;�/ ���0�)

0�����02������ �����3�$�3�����������$�3�92��$$��������������$= ��$�� �;��������� ��$�� ����8��)

� �����3� ���������$� 62�� ��9� K �3��11� ���� ���2$6��76��: �$����� 2�����$= �8�3��� 62�7����)

9��;� ���: ����� ���� �� ����� �2� 3�������� I	 ��7�$6��01= ����3�6�����8����3J� 2���� �����

I�200�$�����������J�C63$��
� ������3���*++ 8D��

���� ���� �5�3�� ��1��$? ���3� 58����99�� ����� ���%� ����� �5�3�� ��1�� ��� 
 ? ��� ���� �87���)

� �������� / ���3����8���� ���� �5�3�� ��1�� : ���� ����� ��1� ���� A �����$����� ���� @ �������)

9���� ��3���� ������ ���� ���� A ����2��6����� �����3� : ���� ���� ���$� ���� / ���3����8��� �$��

A ����2�� 8��� ���� < ����� �����3�������$�3������ �� ��� �����9� � �$$� 58����99������ < ����� ��)
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���3�3���$$�� ��1��������5�3�� ��1�����
 ? �������/ ���3����8��������< 2����$�15������@ ����)

���9���8������������;������7�9�	 �����: ���3��� > �B �����= ���81$��� ���$��8��9���$�3�92)

��$$�����7�9��������������5�3�� ��1����� �����1�����A �����$�������3���� �����: ������

��1���������������8��� �����3�92��$$����8������ ��7��$���� �����8���3�8��6��8= ��������

7�9����$�����16�����3�0������������� ���$? ���3������: �� %�$�;���������������3$���������)

���9�����$��� �����;������0��������> ? ���3�7��1�������
 ��7��%299���< ��35����3��3���

8���������85���������8����99���
��6�� �$������3��������0��$������15��1��������� ���������

���: ����� ��1�;�������. ��$8���� ��;�8���������8����3�8��6��8= ����� �����������$$)����� 	 )

$�%��2���������;�8��9�������6��8�������� %������������������������ ��9�������������	 �)

��3��@ �������9���C62���$$�9���2� ��������9��D����: �� %�$������3����> ? ���3��;��������

���� ��3�$� ��1� ��$�3�92��$$��� 8�������� ���� < ��: �$���3� ���� ���2$6��7��� �����3� 58��)

��99�� 8��� ������� ��������� > ? ���3��� ���� ��3���� �9� @ �������9��� 3�3�5������� ����)

����6�����;�8�����9�8�����������8�0��������8����$�3�������C�F 0��� ��������0��$�
 �: $������)

� %���D���

< 2���������������3�������� ����6��8����������2�3���������IA 2�7���%$����$�J���������)

$�� ���87�������C��� ��G " ���$�������$7���3����7���������������3��� �$2����D;������� �����������

����< ��3��3��������$����� ������2$6��71������: ��������8��������IA 2�7���%$����$�J�58��)

��99������A 2�7���9������0���������8�6�����8����3��������������15��������������2� ����)

��������9�����1�$$��������8����7���3����8��������3�����= �7$�� �����28$�9�����8��� ���;�

������������9�������� = $$�������A 2�7���95������8��1�$$�����2$6��7��89�$����95���������

����A $����$������������������2����/ ����������$$����

/ ��������@ �������9�����������2$6��7��� �����3��8�� �$��� �;��2$$�������99��������1��� �)

���;�����������8��� �������@ �������9����������> �3�����;���������2$6��7��87�: �� %�$�����)

7��8��? ��3������@ �������9�����8�������
 ? ���������3�1�$$�����/ ���3����8���7����8�)

���99���> 2��)�����
27��$6����� �����3�����������58��������������7���901��$��;���������

��������3�$9= � �3����83$��� ��7: ��� ��������/ ���3����8�����������������$�3���������$��

3�8�;� �2� ����� ����� @ ������� %��3� ���3��� �$2����� ����� 
�� �����3�8���= ��3��3��� 15�� ����

������8�����87: ������8���211��������� �= 1��3����3��? �����8��1�$$����7���

� ����������. 0$�7����3����7$�� ���< 2��� ���1����62��������: = ���;���8������ ���9�I�8��� ��)

���3�9��%�J� 3�: ����� 
��������� ���8$������ �$$�����3�� ���� ��� ��� 3�: = ��$������;� ����� ��� ��

�$$���8��� ������������
�����������15$$���������9��� ������� > �3������;������ ���2$6��7��8)

7�: �� %�$���A ������ ������������62���$$�9�I%$�����> ? ���3��J�8�������I
 ���8��%��9�����	 )

� %�J�7���������	 ������51��3�����28���3���������
���������8$��8���2�������$= ��$�� ����

������13�7= �$�����8��� �����3�92��$$��%? �������� �����21�����$��8�: = ����3�$���;��$��8���

�$$��� @ �������9������2$6��7��� ��12$3���� �� �83�: �� %�$�� : ������� ������= �7$�� ��� ��28)

$�9���������8����2� ����� ���8�%�����3�: 2����;�: ����������: = ������
�������������%2�)

��%��� ��� ��$�� ����8��� �����3� C
��� �: 2��� 	 ��7�$6��01= ����3,���������8�����$�3�92��$)

$��D�3�: = ��$�������: �������

��������% 	����"& �!��# ������# �!��' ������!��' ��# ��!����(  �������

�
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� 8: 2�$��$$�������$�3���: ��������3����7$�� �����3�$��3;�������1���9���������16����= 3���

�2: ������� 	 ��8$�����3�62���8��� �����3�92��$$���3�3�8�������;� : ��������� ���2$6��7��)

� �����3����� = �� ����� 7? 3��$�� �� 62������ @ �������9�����3��299���� � ����������90���)

�� �����$�3�������������������7: ����2� �����������: ��������������A 5�7������ �������%��)

�$$��������8��= ��8�1��3��3�����/ 
��62�$��3��;�����6��$���	 . 0�����3��0�= � ����: �����E�)

�2� �� ����$�� �;� ����� 6��$�� @ �������9��� ������ < ��01$�� ����3��� ��� ��� ��� �%299���� 
2�

8���= ��3���� ���� �9� ���%�� 15�������� �8��� �����;� ����� �2� �� �9� 4���� *++H � ���3���9��

��� ���9���� �$�� *+++� @ �������9�������� ���2$6��7��� �����3��83��� �$2�������8��;� : ���

��1������%$����������������62�������� ���� @ �������9����� �$��� ��� $= ����� 	 ������������ ��

����3���0�%��%�$= ������2$6��71= $$��: �����8� 2� %��2���3������ ���� ��$���2�������������5�7���

< ���� �= �1��3��������2$6��7��� �����3��9��$�������$7���3����7�8��� ���������3�: �������: �)

3��3���������8�� �$5��������� �9���3�����7�7��G - ��
����< �6��8���$�� ������� 2�9�$�����)

3��� 15��������� �������3��� 62�� 	 . 0������ ��������8��� �����3���������9��� 7�� ����9�

����%���
� ��8������1��3�����������9�$�������58���� ���8�������%������8��� �����3���)

������9��� ���� �9� $��7���� 4���� �8��1�$$�� 3�: �� ����;� : ��� �8��1�$$�� ��1� ����� 3�? � ����

� �� �1��3�� ��� ���2$6��7��� �����3��� �� �$��� ��� $= ����� / ��� ���� / ��%��3��� ���� �$�������$)

7���3����7��� ��1� ���� I��� %��3�B �2��J� 8��� ���� ���2$6��7��� �����3� ����= � �$�� �� ����;� ����

�90����� ���2� ����� ������ �3�0�51��: 2������

�

$�����7�

%���
��� ����	��
����
�
������������������
�
��& ���������������
��	��'��������

����( ���� ���������	
������
������
��������������#����������� ��
����

���������3�$�����@ �%�����������0��� �2���������= � �$�� ����A 2�����������������= � �$�� ����)

1�$$��������1: ������: �����������9�����2$6��7��� �����3����@ �������9��;�: ������� ���

6? $$�3��83�$����;� �2� E��2� ��7�9���������1����� $��3�����%�3��� �28����������: ��������

A 2����� ������ ���2$6��7��� �����3� ������ ���� 
�� ��� ���� ��8���3�8��� %���� ����%���� � ��7���

3�3��58��;����8�= �3�3���62�;�28������3����7$�� ���87: ������16�����3$�� ���< ��01$�� ����3�

8�������� ��8��� : ������ �8��� �= �1�3� 7: ��� I���%1��$��J� 3�9�� ���� 	 ������� : ������ ����

A 2���������@ �%��������21�9�$��58���� �= �7��� � �� �����$���� : ����7����8�����$�3�92��$$���

�����81$�������� $�B �����������$� ��� 
 ? ���������1�$$������/ ���3����8���9�������A 2�����

3$��� �3����7��� ���� 9�������� ���� �= 1��3���� ��� �$�������$7���� %? ����� �� ���$$� ����3�� ���)

�������������������������������������������������

#�������$��	$�%����������&'������(	�
�����
)�	*����+����
�����������
����)	�����,���$������������������
�-.
����&������� �/��� �����
�� ��

� �#�0� ���� ��������� $��� ������
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	�����
���������+������������
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� � 9������

������������	 ��2�/ ���3����8�����1�$$��;�: ���15��������9����$��= ����� ����������8�������

@ 9��= ���������������8$�� ���������3�������$$����$$�����3����������@ �������9���: ���������

���� 	 �3���59���������������$;���� ��: �����������%���$$���� ���7��� < ��153��3���������
���

%? ������29������ ����$��IA 2����J�8�7��� �����: ��������

��������= � �$�� ����A 2�������3�8������ ����������������$�3�)�87: ��< ��: �$���3�3�85����;�

�����6�$0�26���2����2���� < ����� �����3�0�= 9���;����������8��� �����3���������9���E�)

: ��$�� ����8���� ������ ����;� : ��� 8�����8$�� ��� �%������ ��� � �$$�������� ���� ����� ��3�8��;�

��� ���������2� ������: �������$�����38���8�7��� �����C63$����1���$$��3�����A 2��������
� ���)

���3���*++ 8&�*�D�� K ���9�8�������7���������? 3$�� �%���;����� A 2��������� �� K ���3�: �����

8���������$���$�3���7����: ����� ��1�����

K : �������: ���� �9�K ���99�����3�9�����9�� ��7��������� ���2$6��7��� �����3��= �1�3���1�

���� C6��9����$�� �D���� ��� 62��������� ���2$6��7����%2����� @ �������9����6��: ������ C�F 0�)

�� ��������3�&�I/ �������������58���! +�4����������%���3��������@ �������9��JD��� 8: 2�$�

���6��$���� = $$�������= � �$�� ���$����� ���8��2�������2� �����7��� �= �7��;�%�����8������9����

�������2$6��7����%2�6? $$�3������ �$��� ��������1$�. �8$�����8����7���6�����8����3��������$�����

��� ���= �1�3��9�K ����2��72����62��9��������4������8���9��������4���7�������C> �8�����)

8����7���%2����N D�� K �6��$= ���3�� ��23�2���� �9� 
����� ������ %�$%�$������� ���2$6��7����%2��

%������������9����9�� �����������2��%��2��)�������2��%�7F %$����������/ ����� ��1��: ��)

�����99���%5�7���������9�������3����9�K ���6��$��1���� ����������%2������ ��$����� �= �7��3�

62���= �%����87: ������I< ���� �$�1��J������������������12$3$�� ��������1����������I
� ���1)

$�3�J�����@ �������9����C: ������������0��$������15��%? ���������A �������)A 2�7����2����

�������28������ 0�$�3�$���;�����62��7: ���8��������4������: ��������2� ���$��I%���3�����J�

3�$���D��

�

$�����,�

� ����		�� ����������
	������%����
�����)������������� ����	
������
����������

����������������� �'��������

@ ������� ���3��� ���� ���O�� ���9�������� ������8���9��� ���2$6��7��� �����3� 7��3��;� �����

62���$$�9��������: ��$)�����	 ��15����3�0�27����15�������8��� �����3�92��$$����������)

����: ������ ��1: ���� ��7��3���� ����� ���� 6���� �������� ��5���&� ��� ���� ������� 4������

��� ��	 ��15����3�62��3����7$�� ������������1$�� ������3�$��3���: �������
�� ������ ������9�

0��������� ���2$6��7�� ���7� ���� �� �: ����3��� @ ����1��3���� ���� ��8�����9��%�� : ��� 7: ���

%$���;��8���������������0�����;�< ��8= ����������: ��%�� ��1������������������9�������� = $)

$��� : ���3������3�����%2������8�����8$�� �����%���������$���� 
 �$1����$$��3�3�8��;� ��)

12�9���2��9������$����7�9����9��: �����%��9�62��������������15�����7��9���92����)

3��� ���: ��$)� ���� 	 ��15����3�0�27������ ���� 8���� ����8$�� ��� ����2��� ��� �9� @ ����)

���9����

��������	 ��15����3��������2$6��7��� �����3��9��$�������$7���3����7��9�4����*++ ����������)

8�753$�� ��6��$��< ��8�������3�����%���8��������9���������8���3�8��6��8= ������8������)

���� ��3�������� ��13��299��;� 6��$�� ����� ���92��$$�� $��1���� ����$��0��%��� ����
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�� �����3����������;����� K ��$����� < ��? 11���$�� ���3���7�9����9�����������%�3�����3���

���� 
� ��$��3���87: �� < �������$���3���9��� ��9����9�� P1$�. �8$����8����7�����Q� 8����)

��$������$$�����3�$���� ���������2$6��7��� �����3���

��2�7�6��8�����������12�9���2��$�3��95�������� ����� ������7���3������@ �������9���15��

���� �8��� �����3�92��$$� ����� ������� ���� ��9��� ������ ���: ��$)� 	 ���� ������3�0�27����

���� �6�����$$� �������$��3�0�27���� 9��� ��9� ������8����� ������������ 	 ��1�� ��� 	 ���� ���)

���3���3�$�� 15�� ���� �8��� �����3�92��$$� 3�8�� ��� ��� ��� ���� ��� 8$��8�� $��7�$�� �� ����� 8�)

����8�: ����� ��1�$�� ��� 	 ���� ������3;� : �$� ��� ���� ���� ���2$6��7�� ���7��� ��� � ��3�� %299���

� �� �� : ��� 62��95����� 6���� �������� ��3�82��� 62�� �8��� ������� ���3��2$�� ���� 3�0�51��

: ��������������
�� �)��������: ��$0�27����: ��������$��7����K ����7: �����$��� �����;���99��

�8����2� ���99�������3���2�����������0��� ���

�

$�����8�

* ��
�%�����
����������� ����	
������
�������	�������������������������'�������

+������
�����,��

� �� �����$����8�������62��
������������8���3�8���������15�� ����3;��������2��������2��$)

��1: ����15���������2$6��7��� �����3���18���3���7��95�����CI������� ����15�����������)

��8�������. ����������$$��R JD�������%�����8�����13���������0��%���� ���� 	 �1�����3���%$���

6��������: ������������ �$$���������������S���������0�= � ���9���	 . 0��������8�����3�8��;�

�����62���$$�9��������: ��$)�����	 ��15����3�0�27����9�����1: ����6��8������������ �� �)

��9� ��� �� ���� ������8� 15�� ���� �8��� �����3�92��$$� ����� ������� ���;� 95����� �2� �� 6��)

�� ��������
� ��������$$��������������2��$)	 �< ����3���� �����: �����;���9�����������������)

1��� 7�9���8������ ���� �8��� �����3� ��� ���3����$$�� ����� K ���9�95����� ������ @ 9��= �����

�2� �� C����2��$)D
�� �8���8����������� ���� 
�� �8���8������ ��� ���� �8��� ����3��F ���9�

���3�15���� : ������� ������� 
�� �����3�0�����9��������� $���3$�� �� ��� ���3����$$�� : �����;�

������9�6�����8�����������������������58��9����$������8�����$�3�92��$$��T 8��: �����)

3��� 3��= ��3�� : ������� � �� �������3��� 62�� @ �������9��� ��99�� ���� �1$�3�� ���� �����;�

���5�$�� ��E����� ����7��$�����8���211��������� �= 1��3���;������
 ���62$$���8��������������

���0��� �� C8���9����$��= ����� ����@ �������9���� ��� ! )�+�
�� �8���8������������� �9��2)

���D����������� $= �1�����29����������8� C7����������$���3�����
�� �����3��? ������� @ ����)

���9��;� ���� K �������3� ���� 
�� �����3�8���= ��3��3��D� ���� 8������ $���� �����3��� ����

8�����8$�� �����%������%���������2��� ����9�@ �������9���9�����

�
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/ �3��� ���� �� �$�� ����� < ��8������3�3����� ���� ���2$6��7��� �����3� : ���� 62�� �$$�9� 62��

��: ��%�� ��1�����99���: ��������1�������8�1�����3�����3����7$�� ���
������2��6��: ������

���������< ���� �= �1��3�������3�$��3�3�12������������9�� ������ ��
���;���������������1)

6�����3�0�������� 8��$��3� ��� ��� : ��� ���211�� 3�$��3��� ���;� 1$= � ������ %����� ��3�$��3���

��1����� / �3�7��8���3���� K �9����$��������������73�8�����1�������8�1�����3����� > �3��

���3����;� ����9�������� ���2$6��7��� �����3� ��0����� �9��$�������$7���3����7� 6����%���� �����

�$��� 2$3�������������7����3��
������2��8�������3����7$�� ������3�$�����3��������2$6��7��� ��)

���3�62����8����7���3����8������� ������IK : ��%$�������� ��J�3�%���7��� ������������ �= �)

1����3����7$�� �����3�$��3�3�$�� 15����8����7���3����8��������$�������$7���6�����8����3��;�

: = ������ 15�� �$$�� �������� C> ��3)DK ���%2�����������6��8���$�� ����� G - �� �9�
27��$3����7)

8�� �� �< � I7���= ���3J� ����� ���� I
2������3�$��3J� 15�� ���� �$�������$7���� ���� ��� �� 62�� ��9�


 �����3�����7�������;��$�������������2� ���$��������7����8�������������8����7���3����8���

�����������$����������12$3$�� ��������28$�9���� %��2����9��? � ����������������. 0$�7����������

��8���3�8��� 12�9�$������ < ��01$�� ����3� 7��� �8��� �����3� �2: ��� ���� ���� ���� �= 1��3����

���3��= �9��� A $�3���� ��� ���������3��� ��= �%��7��8�3�5� ��;������� ���������� < ��8������3�

�������2$6��7��� �����3�7��12�� �������K ��$���� ���
 ��: ������0��� ������15�;������6��$��@ �)

������9��;������������9��8��$��3���1�����$��3�����%�3��� �28�����8��;�����������8��)

� �����3��8�� �$��� ���� � 8� �9� 	 ���11�%���$$����7��6��01$�� ������� @ �������9�������� ���;�

���� �2� �� ��� ��� ��� �0�518���� ���� �90����� ��� ��: ���� 15�� ���� / ��%��9%���� ���� G " �� ����

�������29����2� �������

�������7����3������%����2������� ��3����7$�� ���� U ������3���8�7��������� ��������58��)

: ��3������1�����G - ��
����< �C�9��29����: �������2$� ���629���/ ������629����
�

8�7�����3�: �����������3�����3�1��%��2�����9���������3�58��0�51�D��	 ������� �$�� �����)

3�5����3� 15������
� �$�� �������$$��3�62��I�2�9�$��J���8����7���%2�����3�3��58�������

�$�������$7����8����������2$6��7��� �����3�$= ������� ���� �: ��$�� ��1���������������9�
 ��8$�� %�

��1�����: �������< ��8������3�62����8����7���%2������� �����������8�������3����7$�� �����3�)

$��3����93= �3$�� ����

� 5��G - ��
����< ������6���� ��������< ��8�������3�62��� �$= 3���901��$���: ���&�

•� ����G - ��
����< ��2$$����������G " ������12�9�$�������
�����������1���9������������ ��

7���������. 0$�7���� < ��01$�� ����3�������8���3�8����7��� ���2$6��7��� �����3;�������. 0$�7�)

���� A $�3���� ��� ���� ��8������9���� ��1� 8����99��� / �3�� ���� �8��� �����3;� ���� ���)

�� �$����62����: ��%��9��� ���2$6��7�� ���7$? ���3����2: �������� ��3�$9= � �3�� ��12�9�)

��2��01$�� ����

•� ���� < 2�8���$������ ���2$6��73�$����3��? ���3������ ��������$��3�95��������� @ �������)

9���$����G - ��
����< �����$��7����������2��������������8����0�������� ����8��� ���������

���� ���2$6��73�$��������������8���3�8���9$�3�� 1����7����� : ���;�%299�������8���21)

1�����@ �������9���62$$�������������������< 2����$���������3��0���������2$6��7��� ��)



���������	
����
���������������� � ������
	�����
����������	��������
�����	�����

� � #�������

���3;� : = ��������������%2����� ���2$6��7���1�����3���9��� @ �������9���� ��1�� �27��$�)

������: ����C63$��
 ����,�2$1��*++H D�����G " ������: ������������������2$6��73�$�62�8�)

��$���� �2�������7$2��3������ �����

•� ���58���������� ��������
 ���8���7��3�������3���$$3���7������62$$�����$��3�95���������

: ����6��8��������� 4�������8����7���%2�������� ����83���� ����� : ��������2��� : �������$)

$�����3�� �= �1�3��! +� ����9������8������������ ��3���99�$�;� : ��� 15����8������9�)

������� ���� ��8������9��� �8��1�$$�� ������ ����8$�� ���� / ���� ������$$��� 	 �� 3�8�� ��7: �)

�� �����8��� �����3�92��$$�;�������� ����1�����������62����8����7���%2�����8�7�����;��2�

���������������7��= ������3���1��������
�����%������ 
 ���$��3�8����1���� ����� ��7��)

���� : 5����� �9� 	 �3�8���� �2$$��� ����� ���2$6��7��� �����3� 62�� ��8����7���3����8��� 15��

4�������8����7���%2����� 6��01$�� ������ : �����;� $���3$�� �� ���� I%$������ ���J� �$���7���)

%2�����9���3����3���
������62$�9����������62�����7��� �$��� ��������8������3��� 2�)

9�$�����3�9�������< 2�3�8��62���������: ���3����8��������������$��17��������1$�. �8)

$�����8����7�����3�$��3������87��� ��11����������� �������%2�%�����
������7��$�7����)

���7���� ��� A 2���B ���7� 8�����$���� ���� 8������3�� ��3�$��3� ����� ����� ����$�3��3� 62��

3����3���8�7��$�������� �= 1��3���;��������������8$�� ��9����
���������8������95����;�

�9���1�����3�12���������������8����3�������9����������I������J����������2$6��7��)

� �����3�7��%299����

•� T 8��� ���� ��3�$��3� �9� �$�������$7���3����7� ������� �2$$��� 58��0�51�� : �����;� : ��� ����

< ��8���$�� �%���� ���� ���2$6��7�� ���7��3�$��3� ���? ��� : ������ %���������� %299�� ����

��8���3�8����������< ��01$�� ����3���� ������ �;��2���2�����9�8��$��3���� ���9�����%�����


��%��2����������� �= 1��3��������������1���3�: �����;�����A $�3�: �3�7��3����;�: 262��

6��$�� ���� �= 1��3��� �8��� ���� 6����= ��$�� ���� ��5����� 7��5� %�� ���� %��� : ������� < 2��

������ �2$$���9��� ������ < 2��� �$�3� ���� ��9� @ 91�$�� ���� ��: ��%�� ��1���� ��13���1���

����8��� 1$�. �8$�����8����7���6�����8����3���������. ���� � �� �: ���01$�� ��� 15������ ���2$)

6��7��� �����3�8��� ���� 	 ��7�3����$$��� ���� 
27��$6����� �����3���= 3��� �����$$������� 	 ����

1$�. �8$����8����7���6�����8����3�%= 9�����������: ��%��9�7�������;�: ���������1��%��)

2���������� 2�9��������2$6��7�� ���7������ �3�: ������: �������������? ������ �����������

< ��8���$�� �%�������������2$6��7��� �����3;��2���������$$��7���9���� ���;����������
27��$)

6����� �����3���= 3��� �9����2$6��71�$$� ������� > �3������;������87�15��������
27��$6����)

� �����3�8����= 3�����7�7������*�

	 ���� ����� : ��%��9�� > ? ���3����� ���2$6��7��� �����3�%? �������� ������ ������I92�202$�)

�������J��2��$$;� = ��$�� ����9������2����� �����3�6�����;�8�������8�����8$�� �����$����6��)

�2�3��3������� ��� : ���������������2��$$� : ��������������$$�����58��0�51�;� ���� �������8���

3�����= �7$�� ���9���78�����$$�� @ �������9���8��� ��������8����7���3����8������������;�

: = ����6��01$�� ����;����������7�����$������������2��C7������9������2����� �����3�6�����D�7��

9�$���;� : 2���1� ������ : ������9� ������ ��� ���� / ���3����8��� ��3�0������� < ����� ��)

���3�8�����3� 629� @ �������9��� ���7������ : 5����� ���� ����9� �2$� ���� ���2$6��7��� ��)

�������������������������������������������������
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���3�92��$$�%? �������� ���$�� �������? � �������� %��3�B �2��������� ���: �����������@ ����)

���9���8$��8���7���9�$��3�����: ��$)�����	 ���� ������3�0�27��������0�����	 �����2$� ���

> ? ���3� : 5���� ���� 8���������� 
F ���9� ���� ���2$6��7��� �����3� �$$�����3�� 28�2$��� 9�)

� �������9����0��� �����3�8�������� ������6�����7�$�����= �3�����15���

�

$�����+2�

%���������������- .�	��
#����� �����"����)��������������������������������
��

������ ���		�������������	��
���#�����������
.
����

< ��8���$�� ��� 
��������� 15�� �8��� �����3�92��$$�� 3�8�� ��� ���7���� ��� ���� ��� �� �9� �$)

�������$7���3����7� CG " �� ���D� : ������ ��6����� ���2$6��7�� ���7$? ���3��� ���� ��9� � �9���

��� ��8������������2����%�����: ��������A ���������87: �� < 2�������7��3���15���������2)

��$$�� 8�������� ���� � 2$3�� ��62�� ���;� ����� ��� �� 8�����8$�� ��� �%������ ����� ��� 95��62$$���

A $�����8����58���6���� ���������8��� �����3�92��$$����12�9����������$��7����$�� ��������)

3���9�	 �9������������������ �������95����;�28�������3�����8������2$6��7�� ���7$? ���3�

58�����0�����2$6��71����������������3= �3�3����8��� �����3���������������= $���< 2���$$�9�

8��� ��$�3�92��$$��� %299�� ��� ������ �99��� 62�;� ����� ��: ��%��9�� / �3�� 8��� ��������

: ������C����� �$$�3��3�$��7����4�����23���62������������������8����3���� ��D��K ���9��� ������

��� ������E���9�� �$$���� ���3����$$��7������;�����������8��� �������9����2$6��71�$$������%2���%)

����8: �� %$��3�7��������8���3���������1����8�������62���$$�9�8�������6��9����$�� ��%2�)

���35����3���I%$�����J�> ? ���3��;�����3������������I
 ���8��%��9�����	 � %�J�2����1��)

9���������9�����������6��������2���� = ��$�� ��9��83��� �$2����� : ��������������3$�� �)

%�����������8��� �����3����$$����� ������$$�����3�$�����������������;�: ��������� �2��7���0= ��

���&��9�� �$$��������2$6��7��

< 2������������7���901��$��;�����< 2��� �$�3�62��
 ����������2$1��C*++H &�*- D���17�3���)

1��;��������� K ����1�7�����3�6��1������62�� ���2$6��7��� �����3�$? ���3��� 15�����%�������

< ����� �����3������7�15���������� �15����������������2��%? �������8��������������9��15��

� ����7������$������3���1��� ���C��� ��D�2���������
�$8����$1������� ����3�����/ ����� ��1��2����

��������10�������� ������ 
 ��0��= � �$�� ����1�
����������. ���������8������� 62�� ���2$6��7��)

� �����3�$? ���3��������5����������? ����������0����7;�����8�����8$�� ����%�������= �����

�����
�� �������;�������: ��%��9������2$6��7�� ���7��87��� �$��� ����	 ���: ��������< 2����$�8�)

��5���� �����;� ����� 8����99��� ����$= ��$�� ��� 
��������;� ���� E�� ������ �� �2�� 62�� ����

9��%�15��������@ �������9���62�3�3�8��������93����7��: �����;���� ��$�� ��6��8���$�� ��

: ������: 5�������

��9��� ����� ��� �� 1��9�����������8��� �����3�$? ���3��� : ���������9? 3$�� �� ����;� �2$$����

����������������������8��� �����3���� �����������3����7$�� �������2$6��7��� �����3�$? ���3�

��13�3��11��� : ������� K �� ���� ��1����������� 
��������� 3��? ���� 7���� ���� ���2$6��71�����

��� ��$�� ����8��� �����3;����� < 2���$����62��8����99���� > 2��)�����
27��$6����� �����3�)

�����;�������3�$9= � �3���83$��� ��62����13�$��1�������8����7���3����8���9�������������)

$�3���� 
�� ���������� ���� ���� ��3�$9= � �3�� ��12�9�����3� ���� 8���211����� ���� �= 1��3����

87: ��������8��= ����������A ���������%? �����������3$��� �7����3���� �����������$�3��15������
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K ����1�7�����3�6��1������8�$�����/ 2�$3�9��%�;�: 5�������9���%���������������6��9����)

$�� ����58��: ���8�����
 5�����15���2� ������7�����: �� %�$�����8��� �����3�92��$$����1)

3�8����� < ��$9���� : 5����� ���� 3= �3�3��� ���� �� �2�� : ���� 6��8��������� 
��������� 7�9�


� ���7� ���� 8���211����� ��8������9�������� ���� ��8������9��� 6��8���$�� �� 3�9�� ���

: �������

����������������������( ������+�3�9�� �����< 2��� �$= 3���%�������3�$��3��;�����< ��8���)

$�� �%�����������2$6��7��� �����3�62����8����7���3����8���7�����? ����������9������ �������

��9� 
� ���78��5�1���� ���� ���� �= 1��3���� ���3�3��� 7�� %299��;� �2������ ��� �� ���� 8�)

����8$�� �����%�������9��������8�������
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